—

K,

2B

SOUTHWEST
FASTENER

Ny

“  BEAVICE SETS US APART

SWF Part # TR-BB-20

Dimensions:

A-20"
B-13 15"
c-10"

Includes:

Qty. 1 B1202-20" Strut

Qty. 2 3/8-16 x 24" All Thread Rod (37C24STUY)
Qty. 6 3/8-16 Hex Nuts (37CNFHY)

Qty. 6 3/8 SAE Flat Washers (37NWSAY)

Qty. 2 3/8-16 Strut Nuts (P3013Gold)

Qty. 4 3/8 Saddle Washers (AB288-3/8)

Qty. 2 3/8 Strut Washers (P1063Gold)

Qty. 4 Shallow Strut End Caps (B825-52)

242 East University Dr.
Phoenix, AZ 85004-2920
602-272-268 phone 602-272-2789 fax
www.swiastener.com



